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This program solves uniformly accelerated linear motion problems.  This is a consderably revised version of linmot().  The values of any 5 of the 7 quantities { xo, x, vo, v, a, to, t } must be entered, then the program solves for the remaining 2 quantities.  Only solutions with t to are given.  Entered values and results are saved (temporarily) and can be edited for use in the next calculation by cutting and pasting in the dialog box.  (See the example below.)  All solutions are copied to the home screen (using Copyto_h(), by Samuel Stearley) so they can be more easily used in further calculations.

Default values of 0 have been entered for xo and to to save a few keystrokes for most problems.  If you prefer, you can edit the program (at Lbl new), changing "0" xo and "0" to to " xo" xo and " to" to.

Since the data input is done in dialog boxes, I recommend that you download and install autoaoff(), by Kevin Kofler, which turns off the auto alpha lock in dialog boxes.

Place acceler8() and copyto_h() in the same folder then run acceler8().
Ex:
A rocket moves straight upward, starting from rest with an acceleration of +29.4 m/s2.  It runs out of fuel at the end of 4.00 s.  How high does it rise above its original starting point?  What is its velocity at the instant before it crashes to the ground?

Part 1

Input:
vo=0 

 a =29.4
t =4  

xo=0   
to=0 

v = v
 x = x

Output:
v =117.6 

 x =235.2

Part 2   Otput from Part 1 can be cut and pasted as input for Part 2.

Input:  
vo=117.6  
v = 0 
 
a = -9.8
xo=235.2
 to=4
x = x
t =  t
Output:
t =16.00 

 x =940.8

Part 3   Output from Part 2 can be cut and pasted as input for Part 3.


Input:  
vo=0  

a = -9.8
xo=940.8
 to=16

x = 0
v = v 
t =  t
Output:
v = -135.79 

t =29.856
